
DAILY BASIS ASSIGNMENT 

          DAY: TUESDAY                              CLASS: V                                    DATE: 26.05.2020 

          SUBJECT: ENGLISH  

I.  Tick the correct option in the given MCQ. 

1. Which of these is not a type of sentence? 

a. Assertive 

b. Interrogative 

c. Complicated 

d. Imperative 

2. The _______ is used at the end of an indirect question. 

a. Comma 

b. Full stop 

c. Question mark 

d. Exclamation mark 

3. The _____ is used after a word to address a person. 

a. Comma  

b. Full stop 

c. Question mark 

d. Exclamation mark 

4. A clause contains a ______ and a predicate of its own. 

a. Verb  

b. Preposition 

c. Conjunction  

d.  Subject  

5. What is the part of the sentence which denotes the person or thing about which 

something is said? 

a. Predicates  

b. Subject 

c. Phrase 

d. Clause 

SUBJECT: EVS  

I. Choose the correct answer : 

1. Seeds of maple carried  to long distance  by   wind  because  they possess 

a) winged  seed        b) spring seeds    c) large and having  seed       d)long &ridged fruits 

2.The ‘eye’ of the potato plant is  

a) buds                       b) root            c) stem               d) flower 

3. Fern and fungi  reproduce by a common method.Name the method. 



a) spore formation                   b) germination               c) budding               d) binary  fission 

4. Pick  the odd one out from the following  on the basis of mode of reproduction. 

a) sugarcane                        b)potato                  c) rice             d) rose      

5. How coconut  is adapted  for dispersal by water? 

a) it has spongy fibres on its surface                       b) winged  seed 

c) spiny seed                d)hooked seed 

 

 SUBJECT: MATHS 

 I. Tick the correct answers 

1. What is the place value of  3 in 670321 

a) 300000          b)30000        c) 3000       d) 300 

 

2.What is the place value of 2 in 278141 

   a)200000          b)  2000          c)20           d)20000 

 

3.The smallest 6 - digit number is 

   a)100000     b)10001        c)100002       d)10003 

 

4.The smallest 6 - digit number formed using 3,1,2,4,7,9 is 

a)312479     b) 123479    c) 974321    d) 132479 

 

5.The greatest 5 - digit number formed using 8,3,9,2,4 is 

a) 24398       ii ) 89342       iii) 98432      iv) 42388    

 

SUBJECT: COMPUTER       

I. Choose the best options from those given below:- 

i) Without software ________ cannot be used. 

(a)  Hardware   (b) Browser         (c) Website                (d) Data 

 

ii) __________ helps us to draw and colour pictures 



(b)  MS Word   (b) MS Excel            (c) MS Paint       (d) MS Access 

 

iii) ________ can be stored and retrieved from floppy disk, hard disk, etc.   

(a) Program  (b) Software      (c)  Both (a) and (b)     (d) Browser 

 

iv) Even the most advanced computer cannot work by itself without   

(b) Firmware  (b) Liveware      (c)  Software             (d) Hardware 

 

v) An example of hardware 

(a) Paint  (b) Switches           (c) MS Word         (d) Opera Mini 

 

विषय- ह िंदी 

नीचे हदए गए ब ुविकल्पीय प्रश्नों का स ी विकल्प चुनकर लिखें- 

 

1.भाषा के शुद्ध रूप का ज्ञान कराने िािा शास्त्र क्या क िाता  ै? 

क) व्याकरण 

ख) साह त्य 

ग) क ानी 

घ) लिवप 

 

2.प+्र+्आ+ण+्अ ननम्न िणों के योग से बना शब्द  ै- 

क)पण 

ख)प्राण 

ग)पूणण 

घ) पारा 

 

3. ननम्नलिखखत में से ककस भाषा की लिवप देिनागरी न ीिं  ै? 

क) सिंस्त्कृत 

ख) पिंजाबी 



ग) ह िंदी 

घ) गुजराती 

 

4. सैननकों ने युद्ध के लिए कमर कस िी। रेखािंककत मु ािरे का अर्ण  ै- 

क) खुशी मनाना 

ख) क्रोध करना 

ग) तैयार  ोना 

घ) कमर में रस्त्सी बािंधना 

 

5. िेखक ककताब लिख र ा  ै। 

रेखािंककत ककए गए शब्द का स्त्रीलििंग रूप क्या  ै? 

क) िेखक 

ख) िेखखका 

ग) िेखीका 

घ) क ानीकार 

 

 

                                                                                                             



 संस्कृत नियत कायय 31   

 कक्षा 5 

 दििाक 26 5 2020 

प्रश्ि1 जो शब्िः अकारान्त पलु्लंग िह ं है उन्हें छाटे 

क गजः ख ससहंः ग मयूरः घ मक्षक्षका 

प्रश्ि2 जो शब्िः आकारान्त स्रीसलगं  है  

क् लता  ख िरः ग भुजंगः घ व्याघ्रः 

  प्रश्ि 3 वािरःका बहुवचि होगा  

क वािरौ ख वािरे ग वािराः घ वािरम ्

प्रश्ि 4 बालक शब्िरूप चतुर्थी एकवचि मे होगा 

क बालकः ख बालकम ्ग बालकेि घ बालकाय 

 प्रश्ि 5 आ से अंत होिे वाले शब्ि होते है 

क पुल्लंग ख स्रीसलगं ग िपुसंकसलगं घ उभयसलगं 

 

 

  


